Best model for HELP J161052.703+550723.417 at z = 1.584 x2=10.05
OPTx2=15.16 IRy?=1.06 threshold (OPT IR)=20.67 [um]

2
10 : Stellar attenuated
L T Stellar unattenuated
. —— Dust emission
101 . m M —— AGN emission
= Model spectrum
: ® Model fluxes
. Observed fluxes
10° : @
>
£
£ 1071 2
X » .
=) ;“""’rfr- :
L _ vty "\ Py ] .
1072 4§* :
10°3 ;
x
304
1
= ] ==f=(Obs-Mod)/Obs
S ]
S ] L
7 ]
] o - —— A el e i —————————————
o ]
) ]
2 ]
5 ]
© —1 T CIGALE
()
(o'

10° 10! 107 103 104 10° A
Observed wavelength [um]



